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Is each number a solution of x = 5?

a. -2 No, —2 = 5is not true.
b.10 Yes, 10 = 5 is true.

c. 25

‘5 \\3.3, = 5 is true.

Is each number a s_olution of 3 + 2x < ?

3+2x<8 3+2x<8
3+2(-2) <8 - Dubstituleforx. —= 34+ 2(3) <8
3-4<8 SOOI S T Tal T p— 3+6<8

-1 <8 e Lo CHTIATE . e 9<8

—2 is a solution. 3 is not a solution.

a. Graph d < 3.

The solutions of ¢ < 3 are all the points o the
left of 3.
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Write an inequality for each graph.

i 5 x <2 Mianbers less than 2 are
graphed.
b, <t———— x=-3 Mumbers less than or
—4-3-2-1 01 2 equal to ~3 are graphed.
C. Gt R ——— x> —2 Mumbers greater than

-3 are g?ﬁ%}hmz

d. <t O X = —% %%&i‘ﬁ%ﬁ@%’ﬁ greaster than or
—3-2m1 01 23 equal to § are graphed.
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Define ¢ variaﬁlge and write an inequality for

each situation.

a. A speed that the law when the speed limit is

55 miles per ho;. f ”




